Run 1493 Scans 3-18 Charges 0.00 - 3.00 fC Module 0 Stream 1

Gain chip 0 Gain chip 1 Gain chip 2

Response Curve chip3 [po  =103.1 +fp.o/|Response Curve chip4 [po = 94.59 +|p.6e|Response Curve chip ') ¢ Gain chip 3 Gain chip 4 Gain chip 5
pl  =49.08 +J.0O pl  =53.23+JL.8€ pl .

Output Noise chip 0 Output Noise chip 1 Output Noise chip 2 Input Noise chip 0 Input Noise chip 1 Input Noise chip 2

Output Noise chip 3 Output Noise chip 4 Output Noise chip 5 Input Noise chip 3 Input Noise chip 4 Input Noise chip 5




